

3297 Cosby Hwy, Cosby, Tennessee, 37722 Ring: 3 mile radius

Prepared by Esri Latitude: 35.84325 Longitude: -83.22328

		2	023 Labor Force			
				Unemployment	Labor Force	Employment-
Age Group	Population	Employed	Unemployed	Rate	Participation Rate	Population Ratio
16+	2,843	1,305	53	3.9%	47.8%	45.9%
16-24	275	152	3	1.9%	56.4%	55.3%
25-54	1,288	941	37	3.8%	75.9%	73.1%
55-64	523	152	13	7.9%	31.5%	29.1%
65+	756	60	1	1.6%	8.1%	7.9%
Male Age 16+	1,414	797	9	1.1%	57.0%	56.4%
Female Age 16+	1,429	508	44	8.0%	38.6%	35.5%

Economic Dependency Ratio	
Total	163.4
Child (<16)	45.5
Working-Age (16-64)	64.5
Senior (65+)	53.4

industry	Employed	Percent	US Percent	Location Quotient
-otal	1,305	100.0%	100.0%	-
Agriculture/Forestry/Fishing	15	1.1%	1.1%	1.00
Mining/Quarrying/Oil & Gas	14	1.1%	0.4%	2.75
Construction	81	6.2%	7.0%	0.89
Manufacturing	122	9.3%	10.0%	0.93
Wholesale Trade	11	0.8%	1.9%	0.42
Retail Trade	175	13.4%	10.4%	1.29
Transportation/Warehousing	62	4.8%	5.5%	0.87
Utilities	1	0.1%	0.8%	0.12
Information	42	3.2%	1.9%	1.68
Finance/Insurance	14	1.1%	5.0%	0.22
Real Estate/Rental/Leasing	29	2.2%	1.8%	1.22
Professional/Scientific/Tech	59	4.5%	8.6%	0.52
Management of Companies	0	0.0%	0.1%	0.00
Admin/Support/Waste Management	164	12.6%	4.4%	2.86
Educational Services	61	4.7%	9.2%	0.51
Health Care/Social Assistance	108	8.3%	13.6%	0.61
Arts/Entertainment/Recreation	38	2.9%	2.2%	1.32
Accommodation/Food Services	269	20.6%	6.7%	3.07
Other Services (Excluding Public)	22	1.7%	4.7%	0.36
Public Administration	18	1.4%	4.8%	0.30

Data Note: Location Quotients compare the industry/occupation share of a local area's employment relative to that same share nationally. A value lower/greater than 1 indicates that the local area is less/more specialized in that industry or occupation category than the US as a whole.

Explore the Esri Labor Force Learn Lesson for more information on how to use and interpret the estimates in this report.

Source: Esri forecasts for 2023 and 2028.

©2024 Esri Page 1 of 6



3297 Cosby Hwy, Cosby, Tennessee, 37722 Ring: 3 mile radius

Prepared by Esri Latitude: 35.84325 Longitude: -83.22328

A			HO D	1
Occupation	Employed	Percent	US Percent	Location Quotient
Total	1,305	100.0%	100.0%	
White Collar	596	45.7%	62.3%	0.73
Management	119	9.1%	12.0%	0.76
Business/Financial	99	7.6%	5.9%	1.29
Computer/Mathematical	14	1.1%	4.0%	0.2
Architecture/Engineering	0	0.0%	2.4%	0.0
Life/Physical/Social Sciences	0	0.0%	1.3%	0.0
Community/Social Service	13	1.0%	1.9%	0.5
Legal	0	0.0%	1.2%	0.0
Education/Training/Library	75	5.7%	6.2%	0.9
Arts/Design/Entertainment	2	0.2%	2.2%	0.0
Healthcare Practitioner	67	5.1%	6.2%	0.8
Sales and Sales Related	116	8.9%	8.6%	1.0
Office/Administrative Support	91	7.0%	10.4%	0.6
Blue Collar	376	28.8%	21.5%	1.3
Farming/Fishing/Forestry	6	0.5%	0.5%	1.0
Construction/Extraction	97	7.4%	5.0%	1.4
Installation/Maintenance/Repair	27	2.1%	2.9%	0.7
Production	103	7.9%	5.4%	1.4
Transportation/Material Moving	143	11.0%	7.8%	1.4
Services	334	25.6%	16.2%	1.5
Healthcare Support	25	1.9%	3.1%	0.6
Protective Service	6	0.5%	2.1%	0.2
Food Preparation/Serving	127	9.7%	5.2%	1.8
Building Maintenance	168	12.9%	3.3%	3.9
Personal Care/Service	8	0.6%	2.5%	0.2

Data Note: Location Quotients compare the industry/occupation share of a local area's employment relative to that same share nationally. A value lower/greater than 1 indicates that the local area is less/more specialized in that industry or occupation category than the US as a whole.

Explore the Esri Labor Force Learn Lesson for more information on how to use and interpret the estimates in this report.

Source: Esri forecasts for 2023 and 2028.

©2024 Esri Page 2 of 6



3297 Cosby Hwy, Cosby, Tennessee, 37722 Ring: 5 mile radius

Prepared by Esri Latitude: 35.84325 Longitude: -83.22328

		2	023 Labor Force			
				Unemployment	Labor Force	Employment-
Age Group	Population	Employed	Unemployed	Rate	Participation Rate	Population Ratio
16+	6,879	3,128	188	5.7%	48.2%	45.5%
16-24	660	353	13	3.6%	55.5%	53.5%
25-54	3,035	2,145	132	5.8%	75.0%	70.7%
55-64	1,285	423	37	8.0%	35.8%	32.9%
65+	1,900	207	6	2.8%	11.2%	10.9%
Male Age 16+	3,422	1,784	38	2.1%	53.2%	52.1%
Female Age 16+	3,458	1,344	150	10.0%	43.2%	38.9%

Economic Dependency Ratio	
Total	164.5
Child (<16)	44.6
Working-Age (16-64)	65.8
Senior (65+)	54.1

Industry	Employed	Percent	US Percent	Location Quotient
Total Total	3,128	100.0%	100.0%	-
Agriculture/Forestry/Fishing	35	1.1%	1.1%	1.00
Mining/Quarrying/Oil & Gas	23	0.7%	0.4%	1.75
Construction	219	7.0%	7.0%	1.00
Manufacturing	350	11.2%	10.0%	1.12
Wholesale Trade	27	0.9%	1.9%	0.47
Retail Trade	323	10.3%	10.4%	0.99
Transportation/Warehousing	263	8.4%	5.5%	1.53
Utilities	15	0.5%	0.8%	0.62
Information	61	2.0%	1.9%	1.05
Finance/Insurance	75	2.4%	5.0%	0.48
Real Estate/Rental/Leasing	72	2.3%	1.8%	1.28
Professional/Scientific/Tech	97	3.1%	8.6%	0.36
Management of Companies	0	0.0%	0.1%	0.00
Admin/Support/Waste Management	215	6.9%	4.4%	1.57
Educational Services	147	4.7%	9.2%	0.51
Health Care/Social Assistance	269	8.6%	13.6%	0.63
Arts/Entertainment/Recreation	185	5.9%	2.2%	2.68
Accommodation/Food Services	575	18.4%	6.7%	2.75
Other Services (Excluding Public)	82	2.6%	4.7%	0.55
Public Administration	93	3.0%	4.8%	0.64

Data Note: Location Quotients compare the industry/occupation share of a local area's employment relative to that same share nationally. A value lower/greater than 1 indicates that the local area is less/more specialized in that industry or occupation category than the US as a whole.

Explore the Esri Labor Force Learn Lesson for more information on how to use and interpret the estimates in this report.

Source: Esri forecasts for 2023 and 2028.

©2024 Esri Page 3 of 6



3297 Cosby Hwy, Cosby, Tennessee, 37722 Ring: 5 mile radius

Prepared by Esri Latitude: 35.84325 Longitude: -83.22328

Occupation	Employed	Percent	US Percent	Location Quotient
Total	3,128	100.0%	100.0%	-
White Collar	1,325	42.4%	62.3%	0.68
Management	256	8.2%	12.0%	0.68
Business/Financial	195	6.2%	5.9%	1.05
Computer/Mathematical	25	0.8%	4.0%	0.20
Architecture/Engineering	10	0.3%	2.4%	0.12
Life/Physical/Social Sciences	0	0.0%	1.3%	0.00
Community/Social Service	21	0.7%	1.9%	0.37
Legal	0	0.0%	1.2%	0.00
Education/Training/Library	160	5.1%	6.2%	0.82
Arts/Design/Entertainment	21	0.7%	2.2%	0.32
Healthcare Practitioner	173	5.5%	6.2%	0.89
Sales and Sales Related	241	7.7%	8.6%	0.90
Office/Administrative Support	223	7.1%	10.4%	0.68
Blue Collar	1,025	32.8%	21.5%	1.53
Farming/Fishing/Forestry	11	0.4%	0.5%	0.80
Construction/Extraction	222	7.1%	5.0%	1.42
Installation/Maintenance/Repair	69	2.2%	2.9%	0.76
Production	287	9.2%	5.4%	1.70
Transportation/Material Moving	436	13.9%	7.8%	1.78
Services	777	24.8%	16.2%	1.54
Healthcare Support	49	1.6%	3.1%	0.52
Protective Service	46	1.5%	2.1%	0.71
Food Preparation/Serving	338	10.8%	5.2%	2.08
Building Maintenance	281	9.0%	3.3%	2.73
Personal Care/Service	63	2.0%	2.5%	0.80

Data Note: Location Quotients compare the industry/occupation share of a local area's employment relative to that same share nationally. A value lower/greater than 1 indicates that the local area is less/more specialized in that industry or occupation category than the US as a whole.

Explore the Esri Labor Force Learn Lesson for more information on how to use and interpret the estimates in this report.

Source: Esri forecasts for 2023 and 2028.

©2024 Esri Page 4 of 6



3297 Cosby Hwy, Cosby, Tennessee, 37722 Ring: 10 mile radius

Latitude: 35.84325 Longitude: -83.22328

February 05, 2024

Prepared by Esri

		2	023 Labor Force			
				Unemployment	Labor Force	Employment-
Age Group	Population	Employed	Unemployed	Rate	Participation Rate	Population Ratio
16+	25,804	11,445	611	5.1%	46.7%	44.4%
16-24	2,717	1,294	130	9.1%	52.4%	47.6%
25-54	11,349	7,360	347	4.5%	67.9%	64.9%
55-64	4,655	1,814	126	6.5%	41.7%	39.0%
65+	7,084	977	8	0.8%	13.9%	13.8%
Male Age 16+	12,520	6,340	208	3.2%	52.3%	50.6%
Female Age 16+	13,284	5,105	403	7.3%	41.5%	38.4%

Economic Dependency Ratio	
Total	170.8
Child (<16)	46.0
Working-Age (16-64)	71.8
Senior (65+)	53.0

Industry	Employed	Percent	US Percent	Location Quotient
Total	11,445	100.0%	100.0%	-
Agriculture/Forestry/Fishing	57	0.5%	1.1%	0.45
Mining/Quarrying/Oil & Gas	24	0.2%	0.4%	0.50
Construction	788	6.9%	7.0%	0.99
Manufacturing	1,787	15.6%	10.0%	1.56
Wholesale Trade	260	2.3%	1.9%	1.21
Retail Trade	1,042	9.1%	10.4%	0.88
Transportation/Warehousing	860	7.5%	5.5%	1.36
Utilities	134	1.2%	0.8%	1.50
Information	157	1.4%	1.9%	0.74
Finance/Insurance	225	2.0%	5.0%	0.40
Real Estate/Rental/Leasing	191	1.7%	1.8%	0.94
Professional/Scientific/Tech	246	2.1%	8.6%	0.24
Management of Companies	0	0.0%	0.1%	0.00
Admin/Support/Waste Management	491	4.3%	4.4%	0.98
Educational Services	548	4.8%	9.2%	0.52
Health Care/Social Assistance	1,357	11.9%	13.6%	0.88
Arts/Entertainment/Recreation	662	5.8%	2.2%	2.64
Accommodation/Food Services	1,624	14.2%	6.7%	2.12
Other Services (Excluding Public)	534	4.7%	4.7%	1.00
Public Administration	461	4.0%	4.8%	0.85

Data Note: Location Quotients compare the industry/occupation share of a local area's employment relative to that same share nationally. A value lower/greater than 1 indicates that the local area is less/more specialized in that industry or occupation category than the US as a whole.

Explore the Esri Labor Force Learn Lesson for more information on how to use and interpret the estimates in this report.

Source: Esri forecasts for 2023 and 2028.

©2024 Esri Page 5 of 6



3297 Cosby Hwy, Cosby, Tennessee, 37722 Ring: 10 mile radius

Prepared by Esri Latitude: 35.84325 Longitude: -83.22328

Occupation	Employed	Percent	US Percent	Location Quotien
Total	11,445	100.0%	100.0%	
White Collar	5,217	45.6%	62.3%	0.73
Management	1,022	8.9%	12.0%	0.74
Business/Financial	517	4.5%	5.9%	0.76
Computer/Mathematical	80	0.7%	4.0%	0.17
Architecture/Engineering	90	0.8%	2.4%	0.33
Life/Physical/Social Sciences	28	0.2%	1.3%	0.1
Community/Social Service	103	0.9%	1.9%	0.4
Legal	1	0.0%	1.2%	0.0
Education/Training/Library	546	4.8%	6.2%	0.7
Arts/Design/Entertainment	177	1.5%	2.2%	0.6
Healthcare Practitioner	544	4.8%	6.2%	0.7
Sales and Sales Related	1,170	10.2%	8.6%	1.1
Office/Administrative Support	939	8.2%	10.4%	0.7
Blue Collar	3,438	30.0%	21.5%	1.4
Farming/Fishing/Forestry	29	0.3%	0.5%	0.6
Construction/Extraction	693	6.1%	5.0%	1.2
Installation/Maintenance/Repair	316	2.8%	2.9%	0.9
Production	872	7.6%	5.4%	1.4
Transportation/Material Moving	1,528	13.4%	7.8%	1.7
Services	2,790	24.4%	16.2%	1.5
Healthcare Support	331	2.9%	3.1%	0.9
Protective Service	203	1.8%	2.1%	0.8
Food Preparation/Serving	1,187	10.4%	5.2%	2.0
Building Maintenance	708	6.2%	3.3%	1.8
Personal Care/Service	361	3.2%	2.5%	1.2

Data Note: Location Quotients compare the industry/occupation share of a local area's employment relative to that same share nationally. A value lower/greater than 1 indicates that the local area is less/more specialized in that industry or occupation category than the US as a whole.

Explore the Esri Labor Force Learn Lesson for more information on how to use and interpret the estimates in this report.

Source: Esri forecasts for 2023 and 2028.

©2024 Esri Page 6 of 6